Question 1 (Portfolio Theory)

Assume that you can either invest all of your wealth in one of two securities, 1 and 2, or some proportion of your wealth in each. The rates of return have the following means and standard deviations (in % per year):

	Security
	Expected Return
	Standard Deviation

	1
	12%
	10%

	2
	20%
	25%


1. What is the expected return of a portfolio that has 80% in security 1 and 20% in security 2? (3 points)

	Expected portfolio return: 


Your reasoning:

2. What is the risk of this portfolio if the correlation between the two assets is (a) +1 (=+100%), (b) –1 (=-100%), and (c) 0.2? Comment in a couple of sentences on the relationship between correlation and the benefits from diversification. In which of the three cases could you reduce the portfolio risk to zero by changing the portfolio composition appropriately? [You do not need to compute the portfolio weights.] (12 points)

	Standard deviation of portfolio: 

(a)

(b)

(c)

Comments:




Your reasoning:

Question 2 (CAPM):

You are asked to assess the performance of two mutual funds, SmallCap and LargeCap, over a period where the market index went down by 4% (hence, the holding period return on the market was –4%). The risk-free rate is 6%. The relevant data for the fund are given in the following table:

	Fund
	Beta
	Return

	SmallCap
	1.3
	-6.5%

	LargeCap
	0.9
	-4.5%


1. Which fund has performed best, using alpha as a performance measure? (7 points)

	Best performing fund, based on alpha: 


Your reasoning:

2. Suppose you always want to have a portfolio that has a beta of 1.0. How could you have formed a portfolio of SmallCap and the risk-free asset (respectively, LargeCap and the risk-free asset) that has a beta of 1.0? (4 points)

	Portfolio I using SmallCap & riskfree asset:

Portfolio II using LargeCap & riskfree asset:


Your reasoning:

3. What would have been the return on the portfolios you computed under Part 2 during this period? (4 points)

	Return on Portfolio I:

Return on Portfolio II: 


Your reasoning:
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